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BETARI#HEEAD Si6E 28 1HRE
BT 4 R 2 & &t
=TI =S
B—TH 473 446 461 907
BH-TH 542 532 526 1,058
B—TH 228 239 234 473
B_TH 872 908 943 1,851
E—TH 342 296 302 598
BM-TH 490 417 444 861
dt—TH 814 843 872 1,715
dt=-TH 722 755 705 1,460
%—TH 363 317 344 661
%-TH 794 739 760 1,499
#EA—TH 268 261 286 547
#HEA_TH 337 353 390 743
XL—TH 377 362 380 742
XLZ-TH 799 834 863 1,697
XRKIL=TH 913 1,010 1,051 2,061
R—TH 868 898 846 1,744
R-TH 1,083 1,065 1,166 2,231
H=—TH 1,427 1,288 1,458 2,746
== _TH 832 867 840 1,707
BeJII—TH 1,168 1,179 1,290 2,469
BEJII—TH 249 229 241 470
BE—TH 632 735 735 1,470
BH_-TH 779 870 890 1,760
BE=TH 597 627 683 1,310
KELEAES 1,832 1,917 2,010 3,927
LtBHESE—TH 927 1,094 1,141 2,235
FTEHAEMZTH 506 674 668 1,342
LTHBHEAE=TH 720 805 784 1,589
KFETFTHHES 1,938 2,090 2,186 4276
THHEAE—TH 273 331 348 679
THHEARZTH 136 195 204 399
THHEAE=TH 117 159 132 291
THHAE—TH 615 786 771 1,557
THHEAARZTH 302 392 370 762
THHAB=TH 134 190 180 370
1) X E 23,469 24703 25504 50,207
Jnfhh X
KFIRH 2,161 2,356 2,511 4,867
IREE—TH 584 670 663 1,333
IREE_-TH 330 395 373 768
IRAE=TH 334 405 377 782
IREFE—TH 207 215 171 386
IREFE_TH 543 697 712 1,409
IREA=TH 743 1,015 991 2,006
KF A 1,946 2,156 2,196 4,352
KFERE 32 37 45 82
KFERHETE 62 84 68 152
KFEAFH 64 79 79 158
RKF/NHER 286 325 292 617
KFEH 661 732 738 1,470
KYE—TH 1 2 2 4
FIE-TH 0 0 0 0
N X 5+ 7,954 9,168 9,218 18,386
JIIA A X
RFJIHA 2,597 2,883 2,944 5,827
@ st 34,020 36,754 37,666 74,420
SH N E AR 687 504 1,191
*RIA Lk -3 -30 2 -28




